Name of Candidate

Roll No. of Candidate

Test Code: C-4 (ALDEHYDE@_AND KETONES) Sl
y [ The first step In the mechanism of addition of 2,4-DNPH to carbonyl ¢ YA l-—“-w—-_.ﬁ_u_
A. Attack of 2,4-DNPH C. Protonation of carbonyl group s
B. Removal of water - D. Proton transfer
2. Both Ethanol and Acetaldehyde produce the same visual change with
A. Acid dichromate C. Tollen's reagent
B. Sodium metal D. 2, 4-DNPH

3. Propanone does not react with Benedict's solution because
C. Benedict's solution is powerful oxidizing agent

A. it is a readily oxidisable specie
B. it is resistant to oxidation | D. it has an aldehyde group

All of the followings react with mild oxidizing agents except

4.
A. HCHO - C. CH3CH2CHO
B. CH3CHO D. CH3COCH;
5. In a base catalyzed reaction of carbonyl compounds, the base increases
A. Nucleophilic character of reagent -C. Electrophilic character of substrate
B. Acidic character of reagent D. Positive charge on Carbonyl Carbon
6. Which of the following reagent is used to identify aldehydes and methyl ketones
A. Fehling's solution C. Tollen’s Reagent
B. Sodium bisulphite D. Sodium nitroprusside
7 A mixture of Calcium formate and Calcium acetate upon dry distillation forms
A. Formaldehyde | C. Acetone
B. Acetaldehyde f D. Ethanol
8. Propionaldehyde and acetone show isomerism
A. Chain isomerism C. Functional group isomerism
B. Positional isomerism D. Metamerism
9. Which of the following pairs give iodoform test?
A. Methanol and ethanal C. Ethanal and propanal
B. Methanol and ethanol D. Ethanal and Ethanol
10. Aldehydes are obtained by |
A. Hydrolysis of esters C. Oxidation of secondary alcuhmls
B. Oxidation of primary alcohols D. Reaction of Hydrogen gas with alcohols
11. Which of the following reacts with both aldehydes and ketPnes?
A. Fehling's solution C. Hydrazine/H
B. Tollen's reagent D. |2/ NaOH
12, Which of the following is oxidized to an aldehyde containing same number of carbons?
A. 1-propanol . C. 2-Propanol
B. 2-methyl-2-Propanol | D. Phenol I\
13.  Which of the following will not give yellow precipitate with l2/NaQ
1. Formaldehyde 2. Ethanol
3. Acetaldehyde 4. Methanol | g
A. 1, only ' g ﬁ‘ 1
- : o e or yellow ppt. with benzaldehyde?
14. Which one of the following reagents will forgl i;aune%us diamminesilvem) ions
A. Sodium nitroprusside > Sodium bi sulphite

B. 2. 4-dinitrophenylhydrazine
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15.

16.

17.

18.

19.

20.

21,

oz,

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

lodoform test identifies?

A. Formyl group
B. Acetyl Group

CH3CH2CHO has
A. Primary carbons only C. Primary and secondary carbons only

B. Primary, secondary and tertiary alcohols D, Secondary and terliary carbons onl
How many primary carbons are there in 2-Methylpentanal? .

C. Carbonyl group
D. Benzy| Group

A 4. .3
B. 6 k. 1
Catalyst used for the industrial preparation of formaldehyde is
A. Iron oxide and Cu C. Iron oxide and Molybdenum oxide
B. Molybdenum and Copper D. Platinum and Silver
An example of a,B-unsaturated compound is:
A. Crotonaldehyde C. 2-Hydroxyb s
: utanoi
B. Butyraldehyde . D. Bulanuiczcid acd
Polymerization of formaldehyde follows the mechanism:
A. Acid catalyzed electrophilic addition " C. Acid , ili
A % . catalyzed nucleophil iti

B. Base catalyzed electrophilic addition D. Base catalyzed nuclec?phill?cafc?(;ti't?;n
The carbonyl group consists of one sigma bond '

_ and one pi
bond is formed by the overlap of urbital:s t:;??:dat::ltgt??en S
A. pPz-p: C.;p?-sn:*
B. px-px D. sp?-sp?
Which of the followings is the easiest to oxidise
A. Ethane C. Ethanoic acid
8. Ethanol D. Ethanal
Ketones show tautomerism with '
A. Aldehydes " C. Esters
B. Amino acids D. Enols
Number of alpha-carbons in formaldehyde are
A. 1 .3
B. 2 D. Zero

Acetaldehyde reacts with basic iodine solution to give

A. ethanol - C. acetal
B. Sodium formate D. Sodium acetate

By which reaction ketone is converted into hydrocarbons?
A. Hz2/ Ni C. Clemmensen reduction

B. Cannizaro reaction D. Aldol condensation
Acetaldehyde can be prepared by the ozonolysis of

atoms. The sigma

A. Ethene C. 2-butene
B. 1-butene D. 2,3-dimethyl butane

The Acetaldehyde cyanohydrin molecule lacks which of the following hybridized carbons
A. sp® C. dsp?

B. sp? D. sp,sp’

In aldol condensation, the side product is o

A. Water C. Carbon dioxide

B. Ammonia D. None

The elctrophile in haloform reaction is

A. Carbony| C C. Halogen

B. Carbonyl O D. alpha-H

The IUPAC name of acetone is :

A. Propanal C. 2-Propanone

B. Propanone D. Butanone

. . " i is e
: i in the mechanism of Cannizzaro's reaction .
First step involved in C. Nucleophilic attack of OH

_Nucleophilic attack of Hydride ion i :
g- NUCTEDE hilic attack of O" D. Electrophilic attack of OH
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34,

35.

36.

37.

38.

39.

40.

41.

42,

43.

45.

46.

47.

48.

49,

50.

A. esters of aldehydes

Feh .
A A|'I1nﬂg Solution jg i,
B. A rog. J2ing agent we]3
+ A reducing agent C. Test solution for ketones
The main sourc D. Test solution for alcohols
A. NaOH @ of H' ion in borohydride reduction is
Bq. CHEO C. -EH4
Necessa D. Water
A. Be a-cgbc;nd'“ﬂﬂ for oxidation of alcohols is?
. Alpha-hydro C. Beta-hydrogen
e gen D. Two hydroxyl groups
H E:llr:nc;rll réhat forms iodoform in iodoform test for acetaldchyde is
' bis C. Alpha-C
B. Nucleophilic ¢ D. Partial negative C
Maximum number of alpha-hydrogens are found in?
A. Formaldehyde C. Acetone
B. Acetaldehyd '
yde D. Acetophenone
All of these give Cannizaro’s reaction except
A. Benzaldehyde C. Trimethylacetaldehyde
B. Acetaldehyde D. Formaldehyde
Whic:h of the following alcohols cannot be produced by reduction of aldehydes or ketones:
A. Primary alcohol C. Tertiary alcohol '
B. Secondary alcohol | D. Methanol
Symmetrical ketones cannot have Carbons:
A. 4 G. 5
B.3 D.7
Which test is not used as identification of aldehydes:
A. Tollen's test C. Nitroprusside test
B. Benedict's test D. Fehling's test
Cannizaro’s reaction occurs in the presence of:
A. Strong base C. Strong acid
B. Weak base D. Weak acid
The ILU.P.A.C name of crotonaldehyde is:
A. Propenal C. Butan-2-ene-1-al
B. 2-Butenal D. None
One mole of an organic compound requires 0.5 mole of oxygen to produce on acid. The compound
may be:
A. Alcohol C. Ether
B. Ketone D. Aldehyde
C-atom in a carbonyl group acts as a/an:
A. Nucleophilic centre C. Neutral atom

B. Electrophilic centre D. Chiral centre

The product of reduction of butanone with sodium borohydride is:

A. Methanol C. 2-propanol

B. Ethanol D. 2-butanol
ategorized as:

Acetals are also categ AN

B. Polyesters D. Polyethers

Formation of acetals takes place in the presence of?

A. Sulphuric acid C. Muiosll_lHCI

B. Dry HCI _ D. Na
istillation of Calcium acetate forms.

Fog C. Ethanol

A. Formaldehyde _ .
B. Acetone ¥ D. Calcium hydroxide

-th‘?
ion is given by aldehydes and ketones Wi
Aldol condensation is given by A a-Hydrogen

A. B-methyl groups .
B. B-methylene groups D.noa-Hydrog®® —  _ —

-------------
-------------------------------------------------------

-
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